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General Instructions : 

Preparatory Course in General Mathematics (Revised) (OMT -101) 	Questions 1 - 50 

(i) This is an objective type question paper. Options for the correct answer must be marked 

only in OMR sheet. 

(ii) All questions are compulsory. 

(iii) The question paper consists of 50 questions each of which carries one mark. 

(iv) Each question has four alternatives, one of which is correct. Write the Sl. No. of your 

correct alternative I answer below the corresponding question number in the OMR sheet 

and then mark the rectangle for the same number in that column. If you find that none 

of the given alternatives is correct then write 0 and mark in column O. 

(v) Do not waste time in reading the whole question paper. Go on solving questions one by 

one. You may come back to the left out questions, if you have time at the end. 

(vi) Use of calculators is not allowed. 
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q7 tWiq 	q-4 r 3RIT 3-477T <-s(1 ffehril * I 

(vi) ck 5c-?e(' 	 3757:10R-111 / 
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(1) 2 

(3) 4 

2. 4 —2 x 5 ÷ 2 —3 = 

(1) 14 

(3) 6 

3. The number of prime factors of 42 is 

(1) 2 

(3) 4 

2 2 x 37  2 x 4 3 
4. If 	 = 2m  x 3n, then 27 

 

(1) m= 4,n= 1 

(3) m = 8, n = — 1 

5. H.C.F. of 60, 56, 48 and 34 is 

(1) 4 

(3) 8 

6. Simplified form of 
27  x 3 —  2,rd 

 is  
x 

(3) 

1. If the square root of the cube of a number is equal to 8, then the number is 

(2) 16 

(4) 32 

(2) — 4 

(4) 10 

(2) 3 

(4) 5 

(2) m = 1, n = 8 

(4) m = — 1, n = 3 

(2) 6 

(4) 2 

(2) 
4 

(4) 

7. One of the factors of x4  + x3  — 27x — 27 is 

(1) x — 1 	 (2) x + 1 

(3) x — 2 	 (4) x + 2 
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1. ei P.1-*7:Ft k 91I 	'ER iT 	 GRIeR q" 	Wseii 

(1) 	2 (2) 16 

(3) 	4 (4) 32 

2. 4-2 x 5 ÷2-3 = 

(1) 	14 (2) - 4 

(3) 	6 (4) 10 

3. 42* ail-TEf 	 I t 

(1) 	2 (2) 3 

(3) 	4 (4) 5 

4. 
22 x  32 x 43 =. 

ei 	 x 3n  t, ct 
27 

(1) 	m= 4,n= 1 (2) m = 1, n = 8 

(3) 	m = 8, n = - 1 (4) m = - 1, n = 

5. 60, 56, 48 alIT 34 	1T.Tf. (H.C.F.) t 

(1) 	4 (2) 6 

(3) 	8 (4) 2 

6. 
x 3 - 2/3- 	 t 

x Nig 

(1) (2) 
4 4 

(3) (4) 
1 

N/2 

7. x4  + x3  - 27x - 27* TIT-41  

(1) 	x- 1 (2) x + 1 

(3) 	x - 2 (4) x + 2 
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8. Degree of the polynomial (2xy + y) (x 2  – y) is 

(1) 	1 	 (2) 2 

(3) 3 	 (4) 4 

9. Which one of the following is not a composite number ? 

(1) 49 
	

(2) 57 

(3) 61 
	

(4) 91 

10. If m and n are positive integers such that m < n, then which one of the following is 
true ? 

(1) —
m 

  > 1 
	

(2) m + n < 2 

(3) m– n> 2 	 (4) 
m

< 1 
n 

11 11. The smallest of the numbers 
9 
 —, 7 — and — is 

15 9 ' 	
8 

13 	11 

12. 

9 (1) 	
8 	

(2) 
11 	 15 

11 
(3) 	

7 	
(4) 

9 	 13 

How many glasses of water can be filled with 18 litres of water, if a glass can hold 
three-fifth of a litre ? 

(1) 60 (2) 30 

(3) 40 (4) 50 

13.  How many ways are there to select 3 red and 2 green balls from 5 red and 3 green 
balls ? 

(1) C(5, 3) x C(3, 2) (2) C(5, 3) + C(3, 2) 

(3) P(3, 2) + P(5, 3) (4) P(3, 2) x P(5, 3) 

14.  P(100, 98) = 

100! 
(1) (2) 100 x 99 x 98 

98  

100 ! 100 x 99 x 98 
(3) (4) 

2! 3! 

OMT-101 	 6 



(1) — > 1 
n 

(3) m - n > 2 

(2) m + n < 2 

(4) 	< 1 

8. VT:g (2xy + y) (x2  - y) .irl=fTff t 

(1) 1 (2) 2 

(3) 	3 (4) 4 

9. PHRiRgi A A ..t) 	1-TM4 kit.9?-11 4—et  ? 
(1) 49 (2) 57 

(3) 61 (4) 91 

10. zit matrTn 	v--4ffirtkort0 -%m<nt,tPi-iritsiciii14441:1T -t? 

9 7 ii A  8 .A. ii ., 	k.49,4i t  
11. .0.413.1.1 

15 ' 4' 13 	11 

	

(1) 8 
	 (2) 9— 

11 	 15 

7 
(3) 	 (4) 

11 

	

9 	 13 

12. 18 dk TETt -1*A frEMM7141 1-1-1 	klch t, eirq 	from 3/5 	TETt aTT 

.1cht-11 	? 

(1) 60 	 (2) 30 

(3) 40 	 (4) 50 

13. 5 1M3 3 -0-  ;1q1 	3 OM 	2 er f*-94 X111 -541 TrWdi ? 
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(1) 

(3) 

P(100, 

(1) 

(3) 

C(5, 3) 

P(3, 2) 

98) = 

100! 

x C(3, 2) 

+ P(5, 3) 

(2) 

(4) 

(2) 

(4) 

9 8 ! 

100 ! 
2! 

C(5, 3) + C(3, 2) 

P(3, 2) x P(5, 3) 

100 x 99 x 98 

100 x 99x98 
3! 

14. 



15. The point (0, 2) lies 

(1) on the x-axis 

(2) on the y-axis 

(3) in the first quadrant 

(4) in the third qqadrant 

16. The distance between the points (1, — 2) and (3, 4) is 

(1) 	2 	IFT) 	 (2) 	218-  

(3) 	2 -5 	 (4) 	2 Vid 

17. The area of the triangle with vertices (4, 0), (2, 2) and (0, 0) is 

(1) 4 (2) 3 

(3) 10 (4) 5 

18. The value of k, for which x = — 8 is a solution of the equation x + 2k = 40, is 

(1) 21 (2) 24 

(3) 8 (4) 20 

19.  1 100 1) 101 

(1) 1 (2) 2 

(3) 0 (4) — 1 

20. The number of rotational symmetries of an equilateral triangle is 

(1) 4 (2) 3 

(3) 2 (4) 6 

21. A quadrilateral with one pair of opposite sides parallel is called 

(1) a rectangle 

(2) a rhombus 

(3) a parallelogram 

(4) a trapezium 
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15. 1 	s (0, 2)•Prd 

(1) x-3141 TR 

(2) Y-31.4 LTT 

(3) WO 	T 

(4) ki '924RT A 

	

16. 	i4s3-11 (1, — 2) aT1T (3, 4)* #M At 	t 

(1) 2 A/10- 
	

(2) 21-5-  

(3) 2-5 
	

(4) 2 11-. 

Ale 

(1) 

(3) 

(4, 0), 

4 

10 

rit 

(2) 

(4) 

+ 2k 

3 

5 

(2, 2) at (0, 0) W-  

•NUk 	x = — 8 fl x = 40 	r 	iTO' t, AHR-1 

(1) 21 (2) 24 

(3) 8 (4) 20 

i loo _ 

(1 ) 1 (2) 2 

(3) 0 (4) — 1 

r4,41 tv *'t 

(1) 4 (2) 3 

(3) 2 (4) 6 

Tri=pf TATA lar t, cW1111 

(1) aTTarff 

(2) 

(3) Wria7 17  
(4) "T 

17. 

18. 

19. 

20.  

21.  

: 
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22.  

23.  

24.  

The sum of the angles of a pentagon is 

(1) 	540° 

(3) 	180° 

1.01 + 101 + 0101 = 

(1) 	11.1 

(3) 	11.011 

29 is equal to — 
13 

(1) 	1 13 
 

(3) 	213  
13 

(2) 

(4) 

(2) 

(4) 

(2) 

(4) 

360° 

270° 

10.1 

11.211 

213  

3 -2— 
13 

25. Mayank rides a bicycle at a speed of 10 km/hr for 90 minutes. The distance travelled 

by him is 

(1) 15 km 	 (2) 12 km 

(3) 20 km 	 (4) 18 km 

26. A packet contains 50 candies in orange and strawberry flavours. If the ratio of the 

number of orange candies to the strawberry candies is 3 : 2, then the number of 
orange candies is 

(1) 30 (2) 20 

(3) 40 (4) 15 

27. A hall contains 150 furniture items, of which 80% are chairs. The number of 
remaining furniture items is 

(1) 80 (2) 60 

(3) 30 (4) 100 
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22. 

23. 

24. 

= 

360° 

270° 

10.1 

11.211 

3 — 
213 

3 
13 

(1) 	540° 

(3) 	180° 

1.01 + 10.1 + 0.101 

(1) 	11.1 

(3) 	11.011 

 AT1EFF 	t 

(2) 

(4) 

(2) 

(4) 

(2) 

(4) 

—29 
eR IGO 

13 

(1) 	1 —3 
13 

1 
(3) 	2-

13 

25. lielch 10 km/hr 	IIM 14 90 4-frie. 	ci gMlal t 13t14 gRI 1d) T14 

(1) 15 km 
	 (2) 12 km 

(3) 20 km 
	 (4) 18 km 

26. trkz till al -W ff-41*'t 50 V-grg t I zA tics af -N-ft 

t7--41k11 tit-el all 	arszrra .  3 : 2 t 	tiatl 	 titsen t 

(1) 30 	 (2) 20 

(3) 40 	 (4) 15 

27. ft tit eo 150 1:5-4W{ Ar 91t, N-411 14 80% Trfizitt I*Er Tb--4f--  At 	all' 4=r .iks,,e4I 

(1) 80 	 (2) 60 

(3) 30 	 (4) 100 
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28. 10th  Fibonacci number is 

(1) 34 

(3) 89 

1 

29. (0.729) 3  = 

(1) 0.0009 

(3) 0.09 

(2) 55 

(4) 60 

(2) 0.009 

(4) 0.9 

30. If the angles in a quadrilateral are in the ratio of 1 : 2 : 3 : 4, then the smallest angle 
is 

(1) 45° 
	

(2) 36° 

(3) 30° 
	

(4) 55° 

31. A circle of radius 2 cm touches each of the sides of a square as shown in the figure 

given below. The area of the shaded region (in cm 2) is 

(1) 16 — 4it 	 (2) 8n 

(3) 16 — 2n 	 (4) 8 — 4m 

32. The coordinates of the mid-point of the line segment joining (4, 2) and (3, 4) are 

( 7` 
(1) 	3, — 	 (2) (3, 3) 

(3) 
( 7  \ 

3 , 
(4) (4, 3) 

33. The following data represents the number of mobile phones in 15 families : 

4, 4, 3, 1, 4, 2, 1, 1, 2, 3, 2, 2, 1, 3, 3 

The probability that a randomly chosen family has 1 or 2 mobile phones, is 

(1) 

(3) 

4 

15 

3 

15 

(2) 

(4) 

2 

15 

8 

15 

2, 
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28. 10A1 	 
(1) 34 	 (2) 55 

(3) 89 	 (4) 60 

1  

29. (0.729) 3  = 

(1) 0.0009 	 (2) 0.009 

(3) 0.09 	 (4) 0.9 

30. eirq 	wg3j7 -k.b1u1 1: 2 : 3 : 4 313":17 A t,   C.9)d.1 Qui t 

(1) 45° 
	

(2) 36° 

(3) 30° 
	

(4) 55° 

31. fq— IT 2 cm 1101 	 qri 	3r-A* T 	1k 11101 t, 	I ft 	 aTr-t-R 
Tzizrr Trzu t I oitlif4m 4 	49-ch-F (cm2 4) t 

(1) 16 — 4it 	 (2) 8m 

(3) 16 — 27c 	 (4) 8 — 47c 

32. (4, 2) alIT (3, 4) .1141134g * -grt4-14s*1-4.kkr& t 

(1) 
	

(3' ) 

	
(2) (3, 3) 

(3) 
( 7 3) 

2' 
(4) (4, 3) 

33. ci I 314-t 15 tlitdfd A -11-1-o-r-  4, .1 .  Al- 	70-  : 

4, 4, 3, 1, 4, 2, 1, 1, 2, 3, 2, 2, 1, 3, 3 

1414 77 7"" 'cfit4TT 1 7 T 2 1:4-4qF tht4 >11a 	sIrqmal 

(2) 
2 

15 

(3) —
3 

15 

OMT-101 13 

(4) 
8 

15 



34. The equivalent number to —
7 

is 
5 

(1) 

(3) 

84 

100 

84 

60 

(2) 

(4) 

105 

60 

84 

75 

35. If the 11th  term of an A.P. is 5 and its common difference is — 2, then the 6 th  term of 

the A.P. is 

(1) 10 	 (2) 5 

(3) 15 	 (4) — 10 

36. One number is selected at random from the numbers 1 to 12. What is the probability 

that it is odd or is a multiple of 3 ? 

1 
(2) —

1 
(1) 

3  

(3) 
	

3(4)
5 

 6 

37. A parallelogram has 

(1) Rotational symmetry 

(2) Reflection symmetry 

(3) Both rotation and reflection symmetry 

(4) No symmetry 

38. Which one of the following is a conic section ? 

(1) Square 
	

(2) Hyperbola 

(3) Rhombus 
	

(4) Trapezoid .  

39. The figure below shows the blood types of 10,000 army inductees : 

The number of army inductees with Blood group A is 

(1) 2000 (2) 3000 

(3) 1000 (4) 4000 
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34. -7  * 
5 

(1) 

(3) 

84 
100 

84 
60 

(2) 

(4) 

105  
60 

84 
75 

35. e1f4 	 (A.P.) f 11t 1:14 5 t c 1T 	3i7 - 2 t, "a). -Pi wilat 4 WT 6-dt 

(1) 10 	 (2) 5 

(3) 15 	 (4) - 10 

36. 1 	12 1 i 	4t...041311-  4 A- 	kii.9041 	 vtr A.  -441 Alc{1 t .1 TE1 kit9441* "NEM 4.9e1 I 

zif 3 TF 	±.1u1 ,71 t4* mAchii '471T t ? 

1 
(2) -

1 
(1) 

3 	 2 

2 
(3) 3 
	

(4) -
5 
6 

37. 	.1 1-11C1 	WT4 7 4 	t 

(1) 	 

(2) ziki-44-4 111:6:A.  

(3) 	 atIK IRT-444 TriTiTA q 

(4) .4,1i.44-114'-irci 

38. Pi-iroRgd 	4 A.  ct-1-1-Tri 	 ? 

(1) T 	 (2) 3lidgc4F4 

(3) TRWT-17 	 (4) tV-Icisi 

39. -11 , 	a-Trfft 10,000 v1tc\e.1*T4Ti3rwrd 	T4-rit t : 

1-47f .11.0 A* 

(1) 2000 (2) 3000 

(3) 1000 (4) 4000 
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2 

(1) 52 

(3) 52 x 52 

(2) 52 x 51 

(4) 52 x 51 

40. A pentagon is 

(1) 2-dimensional 
	

(2) 3-dimensional 

(3) 5-dimensional 
	

(4) one-dimensional 

41. The mean of the data 3, — 1, 2, 4, 6, 5, 2, 1 is 

(1) 	
3 

2 
(2) 2 

(3) 4 

42. Two cards are drawn one by one from a deck of 52 playing cards without replacement. 

The total number of outcomes is 

43. Which one of the following cannot be an event ? 

(1) Sample space 

(2) Complement of an event 

(3) Experiment 

(4) Union of two events 

44. The maximum possible number of obtuse angles in a quadrilateral is 

(1) 	1 	 (2) 2 

(3) 3 	 (4) 4 

45. Let S be the set of all real numbers from 2 to 3. Then, which one of the following is 

true ? 

(1) 

(2) 

(3) 

(4) 

21 

11 

28 

9 

22 

7 

23 

8 

E S 

E S 

E S 

E S 
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41. aft-41 3, — 1, 2, 4, 6, 5, 2, 1 - T -3:fraft 
3 (1) 	 (2) 2
2  

40. 	TiWp 

(1) 	2- a el 
	

(2) 	3 -14-nti 

(3) 5-ra+-nti 
	

(4) 

(3) 4 	 (4) 	11  
4 

42. 52  	Alf A t T14,1 7"- -7W ent4, RH! ArdRiTicra- 	\lit t I TiftuTTIRI 
i 	iM tieSfrel I t 

-(1) 52 	 (2) 52 x 51 

(3) 52 x 52 	 (4) 52 
x 51 

 
2 

43. PHRirtsici A cbli-Ift 7-- 1.1e.-11 	t tich 	? 

(1) 71-TO VITR 

(2) 7•"' 	tk't 
(3) vz4/T 

(4) t 	 

44. f ' -14-4 aTrw ct) lit' 	3Tfirdri TilTd 	 

(1) 1 	 (2) 2 
(3) 3 	 (4) 4 

45. 1TF #tf-47 I* 2 A 3 	 ci) titge-Ball 	tt-cati S 	I tom , PHRIRsid A 
4-Err 	? 

(1) 

(2) 

(3) 

(4) 

21 
11 

28 
9 

22 
7 

23 
8 

E S 

E S 

E S 

E S 

OMT-101 	 17 



1 

	

46. If P(A) = —
2 	

5 
, P(B) = — and P(A U B) = —

4
, then P(A n B) = 

	

3 	 5 

(2) 
3 	 6 

(4) 
15 	 15 

47. Ramesh bought 1000 shares of par value 10 each of a company which pays 6% 

annual dividend. Ramesh's annual dividend is 

(1) 	600 
	

(2) 	300 

(3) 	60 
	

(4) 	500 

48. A shopkeeper offers 10% discount on an item with marked price 350 and charges 

10% tax after discount. The final selling price of the item is 

(1) 	350 
	

(2) 	360 

(3) 	346.50 
	

(4) 	330.50 

49. A person purchases a product at 80 and sells it at 120. His profit is 

(1) 20% 
	

(2) 30% 

(3) 40% 
	

(4) 50% 

50. The simple interest on 110 at the rate of 8% per annum for one year is 

(1) 	8.80 
	

(2) 	8 

(3) 	11 
	

(4) 	10 

(1) 

(3) 

1 

1 

5 

2 



48. 

(1) 	600 

(3) 	60 

(2) 

(4) 

7( cr))4 

(1) 

(3) 

TH.-KR 	350 aft'd +bra alc41 
vcr 4 ccil t ITg 	alf-dgr ftzt 

350 

346.50 

(2) 

(4) 

300 

500 

10%  	t IT cigi 	-4rq 10% 

t 

360 

330.50 

= — P(B) = — 	 4 	t P(A fl B) = 
5 

46. ei q P(A) — 32  , 	1 
 3 
	P(A U B) = — t, 

5 

(1) 	
1 

(2) 
6 

2 1 
(4) 175- (3) -g 

47. t41 4 -1*01-  c'hq 4 1000 kleit (gQ, rsH4 4 -51A—  "WI 	10 * 	7fg chki 6% 
al 	withr 	t  	.111'4 

49. T  eei 	 Q'T 80 13ftcdTtWiTZ4T 120 k 	jai t 	 

(1) 20% 
	

(2) 30% 

(3) 40% 
	

(4) 50% 

50. 110 	8% aff4ct) 	7 4 	 liTtTWIT 00-11A 

(1) 	8.80 
	

(2) 	8 

(3) 	11 
	

(4) 	10 
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